Form 604

Corporations Act 2001 Section 671B

Notice of change of interests of substantial holder

To Company Name/Scheme

Carawine Resources Ltd (CWX)

ACN/ARSN

611 352 348

Details of substantial holder (1) 1.

Name

QGold Pty Ltd (QGold) and each of the persons listed in the attached Annexure 'A' to this notice (each, a

Substantial Holder).

ACN/ARSN (if applicable)

149 659 950

There was a change in the interests of the

substantial holder on

6 July 2023

The previous notice was given to the company on 22 November 2022

The previous notice was dated

22 November 2022

2. Previous and present voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of securities (4)	Previous notice		Present notice	
	Person's votes	Voting power (5)	Person's votes	Voting power (5)
Fully paid ordinary securities	170,845,394	86.80%	173,611,308	88.21%

3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of change	Person whose relevant interest changed	Nature of change (6)	Consideration given in relation to change (7)	Class and number of securities affected	Person's votes affected
18/05/2023	QGold	On-market acquisition	\$465.10 (\$0.10 per ordinary share)	4,651 ordinary shares	4,651
19/05/2023	QGold	On-market acquisition	\$2,000.00 (\$0.10 per ordinary share)	20,000 ordinary shares	20,000
22/05/2023	QGold	On-market acquisition	\$2,450.00 (\$0.10 per ordinary share)	24,500 ordinary shares	24,500
23/05/2023	QGold	On-market acquisition	\$5,000.00 (\$0.10 per ordinary share)	50,000 ordinary shares	50,000

Date of change	Person whose relevant interest changed	Nature of change (6)	Consideration given in relation to change (7)	Class and number of securities affected	Person's votes affected
25/05/2023	QGold	On-market acquisition	\$1,000.00 (\$0.10 per ordinary share)	10,000 ordinary shares	10,000
29/05/2023	QGold	On-market acquisition	\$250.00 (\$0.10 per ordinary share)	2,500 ordinary shares	2,500
1/06/2023	QGold	On-market acquisition	\$43.80 (\$0.10 per ordinary share)	438 ordinary shares	438
5/06/2023	QGold	On-market acquisition	\$1,800.90 (\$0.10 per ordinary share)	18,009 ordinary shares	18,009
8/06/2023	QGold	On-market acquisition	\$302.30 (\$0.10 per ordinary share)	3,023 ordinary shares	3,023
9/06/2023	QGold	On-market acquisition	\$4,465.44 (\$0.09 per ordinary share)	49,616 ordinary shares	49,616
9/06/2023	QGold	On-market acquisition	\$75.00 (\$0.10 per ordinary share)	750 ordinary shares	750
13/06/2023	QGold	On-market acquisition	\$54.80 (\$0.10 per ordinary share)	548 ordinary shares	548
15/06/2023	QGold	On-market acquisition	\$4,773.20 (\$0.10 per ordinary share)	47,732 ordinary shares	47,732
19/06/2023	QGold	On-market acquisition	\$5,087.60 (\$0.10 per ordinary share)	50,876 ordinary shares	50,876
20/06/2023	QGold	On-market acquisition	\$0.10 (\$0.10 per ordinary share)	1 ordinary share	1
22/06/2023	QGold	On-market acquisition	\$36.80 (\$0.10 per ordinary share)	368 ordinary shares	368
22/06/2023	QGold	On-market acquisition	\$4,725.00 (\$0.11 per ordinary share)	45,000 ordinary shares	45,000
22/06/2023	QGold	On-market acquisition	\$1,540.00 (\$0.11 per ordinary share)	14,000 ordinary shares	14,000
26/06/2023	QGold	On-market acquisition	\$871.08 (\$0.11 per ordinary share)	8,296 ordinary shares	8,296
27/06/2023	QGold	On-market acquisition	\$1,225.07 (\$0.11 per ordinary share)	11,137 ordinary shares	11,137
29/06/2023	QGold	On-market acquisition	\$703.92 (\$0.11 per ordinary share)	6,704 ordinary shares	6,704
30/06/2023	QGold	On-market acquisition	\$992.46 (\$0.11 per ordinary share)	9,452 ordinary shares	9,452

Date of change	Person whose relevant interest changed	Nature of change (6)	Consideration given in relation to change (7)	Class and number of securities affected	Person's votes affected
3/07/2023	QGold	On-market acquisition	\$10,688.59 (\$0.11 per ordinary share)	97,169 ordinary shares	97,169
4/07/2023	QGold	On-market acquisition	\$647.02 (\$0.11 per ordinary share)	5,882 ordinary shares	5,882
4/07/2023	QGold	On-market acquisition	\$2,687.76 (\$0.12 per ordinary share)	22,398 ordinary shares	22,398
06/07/2023	QGold	On-market acquisition	\$316,800.96 (\$0.14 per ordinary share)	2,262,864 ordinary shares	2,262,864

4. Present relevant interests

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Nature of relevant interest (6)	Class and number of securities	Person's votes
QGold	QGold	QGold	Relevant interest under section 608(1)(a) of the Act as the registered holder of shares.	173,611,308 ordinary shares	173,611,308
Queensland Gold Holdings Pty Ltd as trustee for the Christopher Wallin Family Trust No.2 (QGH)	QGold	QGold	Relevant interest under section 608(3)(b) of the Act as a result of holding 100% of the issued share capital of QGold	173,611,308 ordinary shares	173,611,308
Strategic Minerals Corporation Pty Ltd, Signature Resources Pty Ltd, Telluride Mining Pty Ltd, Alpha Uranium Pty Ltd	QGold	QGold	Each of these entities is deemed to have "voting power" in QGold of more than 20% by virtue of their common control by QGH. As a result, each is deemed to have a relevant interest under section 608(3)(a) of the Act.	173,611,308 ordinary shares	173,611,308
Christopher lan Wallin	QGold	QGold	Relevant interest under section 608(3)(b) of the Act as a result of holding 100% of the issued share capital of QGH AND a relevant interest under section 608(1)(b) and section 608(1)(c) of the Act by virtue of control over QGH and QGold.	173,611,308 ordinary shares	173,611,308

5. Changes in association

The persons who have become associates (2) of, ceased to be associates of, or have changed the nature of their association (9) with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association	
N/A		

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address
Each of the persons listed in the attached Annexure 'A'	Refer to Annexure 'A'

Signature				
	print name	Christopher Ian Wallin	capacity	Authorised signatory
	sign here	Molass	date	7 July 2023

ANNEXURE 'A'

This is Annexure A of 1 page referred to in the Form 604 Notice of change of interests of substantial holder signed by me and dated 7 July 2023.

Christopher lan Wallin Authorised signatory

Name	Address
QGold Pty Ltd	
Captain Nominees Pty Ltd as trustee of the Christopher Wallin Superannuation Fund No.2	
Queensland Gold Holdings Pty Ltd as trustee for the Christopher Wallin Family Trust No.2	Level 15, 40 Creek Street, Brisbane QLD 4000
Strategic Minerals Corporation Pty Ltd	
Signature Resources Pty Ltd	
Telluride Mining Pty Ltd	
Alpha Uranium Pty Ltd	
Christopher Ian Wallin	4 Kintyre Street, Brookfield QLD 4069